Weights
I I I I I I

70000 —
= -
a 50000 |-
3 -
2 N
g N
> I
0 =
e i

30000 —

0.0

D
o

X-sect = 5.347E-03(pb) AVG =9.900E-01 RMS = 1.110E-16
Tot # Evts = 49223 Entries = 49223 Undersc= 0 Over
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X-sect = 5.347E-03(pb) AVG = 1.879E+00 RMS = 1.544E+00
Tot # Evts = 49223 Entries = 49218 Undersc= 0 Over
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X-sect = 5.347E-03(pb) AVG =2.074E-02 RMS = 1.484E-01
Tot # Evts = 49223 Entries = 49223 Undersc= 0 Over
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X-sect = 5.347E-03(pb) AVG = 2.000E+00 RMS = 0.000E+00
Tot # Evts = 49223 Entries = 49223 Undersc= 0 Over
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X-sect = 5.347E-03(pb) AVG =7.432E-01 RMS = 4.442E-01
Tot # Evts = 49223 Entries = 49223 Undersc= 0 Over
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X-sect = 5.347E-03(pb) AVG = 7.435E-01 RMS = 4.434E-01
Tot # Evts = 49223 Entries = 49223 Undersc= 0 Over
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X-sect = 5.347E-03(pb) AVG =8.472E-01 RMS = 3.651E-01
Tot # Evts = 49223 Entries = 49223 Undersc= 0 Over
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X-sect = 5.347E-03(pb) AVG =8.514E-01 RMS = 3.610E-01
Tot # Evts = 49223 Entries = 49223 Undersc= 0 Over
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X-sect = 5.347E-03(pb) AVG =2.297E-01 RMS = 4.708E-01
Tot # Evts = 49223 Entries = 49223 Undersc= 0 Over
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X-sect = 5.347E-03(pb) AVG = 3.732E-02 RMS = 1.942E-01
Tot # Evts = 49223 Entries = 49223 Undersc= 0 Over
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X-sect = 5.347E-03(pb) AVG = 3.657E-02 RMS = 1.917E-01
Tot # Evts = 49223 Entries = 49223 Undersc= 0 Over
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X-sect = 5.347E-03(pb) AVG =2.076E+02 RMS = 7.570E+01
Tot # Evts = 49223 Entries = 49046 Undersc= 0 Over
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X-sect = 5.347E-03(pb) AVG = 1.962E+01 RMS =2.011E+01
Tot # Evts = 49223 Entries = 49213 Undersc= 0 Over
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X-sect = 5.347E-03(pb) AVG = 3.382E+01 RMS = 2.556E+01
Tot # Evts = 49223 Entries = 39550 Undersc= 0 Over
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X-sect = 5.347E-03(pb) AVG = 1.799E+01 RMS = 1.556E+01
Tot # Evts = 49223 Entries = 26068 Undersc= 0 Over
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X-sect = 5.347E-03(pb) AVG =1.217E+01 RMS = 1.018E+01
Tot # Evts = 49223 Entries = 14568 Undersc= 0 Over
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X-sect = 5.347E-03(pb) AVG = 9.604E+00 RMS = 7.398E+00
Tot # Evis = 49223 Entries= 7133 Undersc= 0 Over
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X-sect = 5.347E-03(pb) AVG = 3.260E+01 RMS = 2.741E+01
Tot # Evis = 49223 Entries= 980 Undersc= 0 Over
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Tot # Evis = 49223 Entries = 1 Undersc= 0 Over
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X-sect = 5.347E-03(pb) AVG = 2.000E+00 RMS = 0.000E+00
Tot # Evts = 49223 Entries = 49223 Undersc= 0 Over
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X-sect = 5.347E-03(pb) AVG = 2.000E+00 RMS = 0.000E+00
Tot # Evts = 49223 Entries = 49223 Undersc= 0 Over
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X-sect = 5.347E-03(pb) AVG =4.227E+01 RMS = 1.837E+01
Tot # Evts = 49223 Entries = 36327 Undersc= 0 Over
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X-sect = 5.347E-03(pb) AVG =4.222E+01 RMS = 1.839E+01

Tot # Evis = 49223 Entries = 36349 Undersc =
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Tot # Evis = 49223 Entries= 145 Undersc =
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X-sect = 5.347E-03(pb) AVG =4.222E+01 RMS = 1.878E+01

Tot # Evis = 49223 Entries = 41424 Undersc =

0 Over
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X-sect = 5.347E-03(pb) AVG =7.187E+00 RMS = 6.177E+00
Tot # Evts = 49223 Entries= 91 Undersc= 0 Over
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X-sect = 5.347E-03(pb) AVG = 4.000E+00 RMS = 2.000E+00
Tot # Evis = 49223 Entries = 2 Undersc= 0 Over
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Tot # Evts = 49223 Entries = 41646 Undersc= 0 Over
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X-sect = 5.347E-03(pb) AVG =7.124E+00 RMS = 5.329E+00
Tot # Evts = 49223 Entries= 89 Undersc= 0 Over
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X-sect = 5.347E-03(pb) AVG = 4.000E+00 RMS = 2.000E+00
Tot # Evis = 49223 Entries = 2 Undersc= 0 Over
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X-sect = 5.347E-03(pb) AVG =-4.344E-03 RMS = 1.568E+00
Tot # Evts = 49223 Entries = 39736 Undersc= 0 Over
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Tot # Evts = 49223 Entries = 26101 Undersc= 0 Over
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Tot # Evts = 49223 Entries = 14571 Undersc= 0 Over
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X-sect = 5.347E-03(pb) AVG =-7.641E-03 RMS = 1.563E+00
Tot # Evis = 49223 Entries= 7133 Undersc= 0 Over
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X-sect = 5.347E-03(pb) AVG =2.918E-02 RMS = 8.653E-01
Tot # Evis = 49223 Entries= 980 Undersc= 0 Over
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X-sect = 5.347E-03(pb) AVG = 2.600E-01 RMS = 8.743E-01
Tot # Evts = 49223 Entries= 40 Undersc= 0 Over
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Tot # Evis = 49223 Entries = 1 Undersc= 0 Over
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Tot # Evts = 49223 Entries = 36423 Undersc= 0 Over
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Tot # Evis = 49223 Entries= 158 Undersc= 0 Over
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Tot # Evts = 49223 Entries = 36451 Undersc= 0 Over
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Tot # Evis = 49223 Entries= 145 Undersc= 0 Over
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Tot # Evts = 49223 Entries = 41609 Undersc= 0 Over
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Tot # Evis = 49223 Entries = 2 Undersc= 0 Over
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Tot # Evts = 49223 Entries= 41816 Undersc= 0 Over
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Tot # Evts = 49223 Entries= 89 Undersc= 0 Over
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Tot # Evis = 49223 Entries = 2 Undersc= 0 Over
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X-sect = 5.347E-03(pb) AVG =2.374E+00 RMS = 1.104E+00
Tot # Evts = 49223 Entries = 25466 Undersc= 0 Over
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X-sect = 5.347E-03(pb) AVG =2.351E+00 RMS = 1.115E+00
Tot # Evts = 49223 Entries = 14204 Undersc= 0 Over
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X-sect = 5.347E-03(pb) AVG =2.379E+00 RMS = 1.123E+00
Tot # Evis = 49223 Entries= 6957 Undersc= 0 Over
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X-sect = 5.347E-03(pb) AVG =2.318E+00 RMS = 1.129E+00
Tot # Evts = 49223 Entries = 14204 Undersc= 0 Over




103 —

10° —
5 -
{ »
4 u
s 10!
v -
= N

100 —

R(jet2,jet4)
) I ) ) ) )

o

DeltaR

(9)]

X-sect = 5.347E-03(pb) AVG = 2.342E+00 RMS = 1.142E+00
Tot # Evis = 49223 Entries= 6938 Undersc= 0 Over
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X-sect = 5.347E-03(pb) AVG = 2.344E+00 RMS = 1.140E+00
Tot # Evis = 49223 Entries= 6910 Undersc= 0 Over
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X-sect = 5.347E-03(pb) AVG =2.231E+00 RMS = 1.015E+00
Tot # Evis = 49223 Entries= 834 Undersc= 0 Over
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X-sect = 5.347E-03(pb) AVG = 2.469E+00 RMS = 1.180E+00
Tot # Evts = 49223 Entries= 32 Undersc= 0 Over
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X-sect = 5.347E-03(pb) AVG = 2.236E+00 RMS = 1.029E+00
Tot # Evis = 49223 Entries= 600 Undersc= 0 Over
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X-sect = 5.347E-03(pb) AVG =2.136E+00 RMS = 8.823E-01
Tot # Evts = 49223 Entries= 22 Undersc= 0 Over
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X-sect = 5.347E-03(pb) AVG =2.217E+00 RMS = 1.024E+00
Tot # Evis = 49223 Entries= 373 Undersc= 0 Over
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X-sect = 5.347E-03(pb) AVG =2.257E+00 RMS = 1.003E+00
Tot # Evis = 49223 Entries = 14 Undersc= 0 Over
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X-sect = 5.347E-03(pb) AVG =2.331E+00 RMS = 1.040E+00
Tot # Evis = 49223 Entries= 188 Undersc= 0 Over
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X-sect = 5.347E-03(pb) AVG = 1.890E+00 RMS = 5.783E-01
Tot # Evis = 49223 Entries = 5 Undersc= 0 Over
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X-sect = 5.347E-03(pb) AVG = 2.240E+00 RMS = 8.643E-01
Tot # Evts = 49223 Entries = 39736 Undersc= 0 Over
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X-sect = 5.347E-03(pb) AVG =2.237E+00 RMS = 8.817E-01
Tot # Evts = 49223 Entries = 26101 Undersc= 0 Over
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X-sect = 5.347E-03(pb) AVG =2.233E+00 RMS = 8.871E-01
Tot # Evts = 49223 Entries = 14571 Undersc= 0 Over
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X-sect = 5.347E-03(pb) AVG = 2.225E+00 RMS = 8.899E-01
Tot # Evis = 49223 Entries= 7133 Undersc= 0 Over
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X-sect = 5.347E-03(pb) AVG = 2.550E+00 RMS = 9.275E-01
Tot # Evts = 49223 Entries = 28443 Undersc= 0 Over
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X-sect = 5.347E-03(pb) AVG = 2.500E+00 RMS = 9.516E-01
Tot # Evts = 49223 Entries = 18208 Undersc= 0 Over
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X-sect = 5.347E-03(pb) AVG =2.491E+00 RMS = 9.678E-01
Tot # Evis = 49223 Entries= 9849 Undersc= 0 Over
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X-sect = 5.347E-03(pb) AVG =2.512E+00 RMS = 9.651E-01
Tot # Evis = 49223 Entries= 4652 Undersc= 0 Over
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X-sect = 5.347E-03(pb) AVG =2.538E+00 RMS =9.171E-01
Tot # Evts = 49223 Entries = 28504 Undersc= 0 Over
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X-sect = 5.347E-03(pb) AVG =2.477E+00 RMS = 9.551E-01
Tot # Evts = 49223 Entries = 18251 Undersc= 0 Over
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X-sect = 5.347E-03(pb) AVG =2.491E+00 RMS = 9.615E-01
Tot # Evis = 49223 Entries= 9907 Undersc= 0 Over
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X-sect = 5.347E-03(pb) AVG = 2.505E+00 RMS = 9.623E-01
Tot # Evis = 49223 Entries= 4639 Undersc= 0 Over
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X-sect = 5.347E-03(pb) AVG = 2.335E+00 RMS = 1.084E+00
Tot # Evts = 49223 Entries = 33621 Undersc= 0 Over
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X-sect = 5.347E-03(pb) AVG =2.351E+00 RMS = 1.075E+00
Tot # Evts = 49223 Entries = 22258 Undersc= 0 Over
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X-sect = 5.347E-03(pb) AVG =2.383E+00 RMS = 1.061E+00
Tot # Evts = 49223 Entries = 12516 Undersc= 0 Over
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X-sect = 5.347E-03(pb) AVG =2.407E+00 RMS = 1.073E+00
Tot # Evis = 49223 Entries= 6168 Undersc= 0 Over
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X-sect = 5.347E-03(pb) AVG =2.321E+00 RMS = 1.092E+00
Tot # Evts = 49223 Entries = 33793 Undersc= 0 Over
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X-sect = 5.347E-03(pb) AVG = 2.364E+00 RMS = 1.069E+00
Tot # Evts = 49223 Entries = 22368 Undersc= 0 Over
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X-sect = 5.347E-03(pb) AVG =2.383E+00 RMS = 1.076E+00
Tot # Evts = 49223 Entries = 12586 Undersc= 0 Over
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X-sect = 5.347E-03(pb) AVG =2.413E+00 RMS = 1.070E+00
Tot # Evis = 49223 Entries= 6207 Undersc= 0 Over
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X-sect = 5.347E-03(pb) AVG =1.768E+00 RMS = 9.351E-01
Tot # Evts = 49223 Entries= 40 Undersc= 0 Over
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X-sect = 5.347E-03(pb) AVG = 1.847E+00 RMS = 7.960E-01
Tot # Evis = 49223 Entries= 980 Undersc= 0 Over
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X-sect = 5.347E-03(pb) AVG = 1.892E+00 RMS = 7.120E-01
Tot # Evts = 49223 Entries= 40 Undersc= 0 Over
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X-sect = 5.347E-03(pb) AVG =2.331E+00 RMS = 8.301E-01
Tot # Evis = 49223 Entries= 672 Undersc= 0 Over
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X-sect = 5.347E-03(pb) AVG =2.017E+00 RMS = 9.296E-01
Tot # Evts = 49223 Entries= 21 Undersc= 0 Over
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X-sect = 5.347E-03(pb) AVG = 2.320E+00 RMS = 8.088E-01
Tot # Evis = 49223 Entries= 687 Undersc= 0 Over
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X-sect = 5.347E-03(pb) AVG =2.573E+00 RMS = 7.042E-01
Tot # Evts = 49223 Entries= 31 Undersc= 0 Over
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X-sect = 5.347E-03(pb) AVG =2.153E+00 RMS = 9.875E-01
Tot # Evis = 49223 Entries= 859 Undersc= 0 Over
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X-sect = 5.347E-03(pb) AVG =2.135E+00 RMS = 1.024E+00
Tot # Evts = 49223 Entries= 34 Undersc= 0 Over
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X-sect = 5.347E-03(pb) AVG =2.224E+00 RMS = 9.373E-01
Tot # Evis = 49223 Entries= 844 Undersc= 0 Over
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X-sect = 5.347E-03(pb) AVG = 2.444E+00 RMS = 7.945E-01
Tot # Evts = 49223 Entries= 32 Undersc= 0 Over
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R(??27?1,e+1)
) ) I ) ) ) )

DeltaR

X-sect = 5.347E-03(pb) AVG = 2.026E+00 RMS = 8.358E-01
Tot # Evts = 49223 Entries = 36423 Undersc= 0 Over




# events/bin

103

10l

R(??27?1,e—1)
) ) I ) ) )

o III

DeltaR

X-sect = 5.347E-03(pb) AVG =2.023E+00 RMS = 8.370E-01
Tot # Evts = 49223 Entries = 36451 Undersc= 0 Over




# events/bin

103

10°

101

R(????1,mu—1)

DeltaR

X-sect = 5.347E-03(pb) AVG =2.019E+00 RMS = 8.274E-01
Tot # Evts = 49223 Entries = 41609 Undersc= 0 Over




# events/bin

103

10°

109

R(????1,mu+1)

DeltaR

X-sect = 5.347E-03(pb) AVG =2.022E+00 RMS = 8.262E-01
Tot # Evts = 49223 Entries= 41816 Undersc= 0 Over




103 =
2 [—
g O7F
< -
3 R
g 1
% 10 §_
I= —
100 =

R(e+1,e—1)

o

DeltaR

(9)]

X-sect = 5.347E-03(pb) AVG =2.716E+00 RMS = 5.468E-01
Tot # Evts = 49223 Entries = 27284 Undersc= 0 Over




# events/bin

103

R(e+1,mu—1)

DeltaR

X-sect = 5.347E-03(pb) AVG = 2.066E+00 RMS = 8.503E-01
Tot # Evts = 49223 Entries = 31802 Undersc= 0 Over




# events/bin

103

10°

R(e+1,mu+1)

o

DeltaR

[9)] 1 IIIIIIIl

X-sect = 5.347E-03(pb) AVG =2.095E+00 RMS = 8.521E-01
Tot # Evts = 49223 Entries = 31921 Undersc= 0 Over




# events/bin

103

101

100

101

R(e—1,mu—1

)

DeltaR

(9)]

X-sect = 5.347E-03(pb) AVG =2.098E+00 RMS = 8.508E-01
Tot # Evts = 49223 Entries = 31773 Undersc= 0 Over




# events/bin

R(e—1,mu+1)

DeltaR

X-sect = 5.347E-03(pb) AVG =2.071E+00 RMS = 8.477E-01
Tot # Evts = 49223 Entries = 32003 Undersc= 0 Over




R(mu—1,mu+1)

104 —1
103 E—
2
g 07 E
{ -
P N
5 ul
2 10
I
100 E—
-I

o

DeltaR

(9]

X-sect = 5.347E-03(pb) AVG =2.713E+00 RMS = 5.579E-01
Tot # Evts = 49223 Entries = 35776 Undersc= 0 Over




# events/bin

5000

1000
500

100
50

-
o

o U IIIIIII

(9)]

m(jet1,jet?)
) I ) ) ) ) I

mij

X-sect = 5.347E-03(pb) AVG = 7.023E+01

Tot # Evis = 49223 Entries = 25874 Undersc =

RMS = 7.151E+01
0 Over




# events/bin

103

100

m(jet1,jet3)

mij

X-sect = 5.347E-03(pb) AVG = 6.242E+01 RMS = 6.154E+01
Tot # Evts = 49223 Entries = 14501 Undersc= 0 Over




# events/bin

103

101

100

m(jetl,jet4)

o IIIIIII

100 200 300 400
mij

X-sect = 5.347E-03(pb) AVG =6.128E+01 RMS = 6.018E+01
Tot # Evis = 49223 Entries= 7106 Undersc= 0 Over




# events/bin

10°

101

100

m(jetR,jet3)

o

mij

X-sect = 5.347E-03(pb) AVG =4.548E+01 RMS = 5.079E+01

Tot # Evis = 49223 Entries = 14542 Undersc =

0 Over




m(jetR,jet4)

103
102 E—
5 -
& i
o 3
m -
> ~
0 =
S i
100 E—
0

mij

X-sect = 5.347E-03(pb) AVG =4.597E+01 RMS = 5.030E+01
Tot # Evis = 49223 Entries= 7120 Undersc= 0 Over




103
10°
g
<
3 1
s 10
)]
>
(5]
S
100
10~1

m(jet3,jet4)

o

mij

500

X-sect = 5.347E-03(pb) AVG = 3.559E+01 RMS = 4.079E+01

Tot # Evis = 49223 Entries =

7126 Undersc= 0 Over




m(jet1,b1)

[~ 1
103 E—
10° =
£ -
S L
100
0 -
> -
0 -
I »
100 E—
1
0

mij

500

X-sect = 5.347E-03(pb) AVG =6.811E+01 RMS = 6.334E+01
Tot # Evis = 49223 Entries= 834 Undersc= 0 Over




# events/bin

103

m(jet1,bR)

10
mij

| I | IHH 1 1 | 1 1 1 1 |I
0 200 300

400

500

X-sect = 5.347E-03(pb) AVG =6.812E+01 RMS = 6.560E+01

Tot # Evis = 49223 Entries =

32 Undersc= 0 Over




# events/bin

m(jet2,bl)

o

100 200 300 400
mij

500

X-sect = 5.347E-03(pb) AVG =4.973E+01 RMS = 4.884E+01
Tot # Evis = 49223 Entries= 602 Undersc= 0 Over




# events/bin

m(jet2,bR)

100 200 300 400
mij

500

X-sect = 5.347E-03(pb) AVG = 3.636E+01 RMS = 2.785E+01
Tot # Evts = 49223 Entries= 22 Undersc= 0 Over




# events/bin

m(jet3,b1)

o

100 200
mij

300

400

500

X-sect = 5.347E-03(pb) AVG = 4.302E+01

Tot # Evis = 49223 Entries =

374 Undersc =

0 Over

RMS = 4.278E+01




# events/bin

103

10°

m(jet3,bR)

100 200
mij

500

X-sect = 5.347E-03(pb) AVG =

Tot # Evis = 49223 Entries =

3.857E+01 RMS = 3.014E+01
14 Undersc= 0 Over




m(jet4,bl)

I I I I I I I I I I I I I
£ x ]
S o F ‘
g 100 g IE
0 - -
> u 3
(3} K n
e B I _
1 1 1 1 1 | 1 1 1 |
0 100 200 300 400 500
mij

X-sect = 5.347E-03(pb) AVG = 3.952E+01 RMS = 3.495E+01
Tot # Evis = 49223 Entries= 188 Undersc= 0 Over




10°
g
0
E 101
a
)]
>
(5]
S
100

m(jet4,bR)

o IIIIIIII

mij

500

X-sect = 5.347E-03(pb) AVG = 3.100E+01

Tot # Evis = 49223 Entries =

5 Undersc =

RMS = 4.899E+00

0 Over




5000

1000
500

100
50

# events/bin

10

m(jetl,e+1)
I I I I I I

o

mij

X-sect = 5.347E-03(pb) AVG = 8.869E+01 RMS = 6.825E+01
Tot # Evts = 49223 Entries = 28550 Undersc= 0 Over




# events/bin

m(jet2,e+1)

o

mij

500

X-sect = 5.347E-03(pb) AVG = 6.670E+01 RMS = 5.337E+01

Tot # Evis = 49223 Entries = 18346 Undersc =

0 Over




# events/bin

10°

101

100

10-1

m(jet3,e+1)
) I ) ) ) ) I ) ) ) ) )

o

100 200 300 400
mij

X-sect = 5.347E-03(pb) AVG =5.748E+01 RMS = 4.478E+01
Tot # Evis = 49223 Entries= 9924 Undersc= 0 Over




m(jet4,e+1)

102
£ :
S 0
g 100 g
0 -
> -
0 -
S »

100 E—

1
0

100 200 300
mij

400

X-sect = 5.347E-03(pb) AVG =5.418E+01 RMS = 4.247E+01

Tot # Evis = 49223 Entries= 4697 Undersc =

0 Over




103
g
0
& 102
a
)]
>
(5]
S
101

m(jetl,e—1)
I I I I I I

o IIIIIIII

mij

X-sect = 5.347E-03(pb) AVG =8.841E+01 RMS = 6.808E+01

Tot # Evis = 49223 Entries = 28629 Undersc =

0 Over




# events/bin

103

10°

101

100

m(jet2,e—1)
I I I I ) ) I ) ) ) I )

o IIIIII

mij

X-sect = 5.347E-03(pb) AVG =6.592E+01 RMS = 5.274E+01
Tot # Evts = 49223 Entries = 18394 Undersc= 0 Over




# events/bin

100

10~1

m(jet3,e—1)

o

mij

500

X-sect = 5.347E-03(pb) AVG =5.762E+01 RMS = 4.574E+01
Tot # Evis = 49223 Entries= 9996 Undersc= 0 Over




# events/bin

m(jet4,e—1)

o

100 200 300 400
mij

500

X-sect = 5.347E-03(pb) AVG = 5.420E+01 RMS = 4.326E+01
Tot # Evis = 49223 Entries= 4692 Undersc= 0 Over




5000

1000
500

100
50

# events/bin

—
o

o IIIIIII

(9)]

m(jetl,mu—1)
) ) ) I ) ) ) )

mij

X-sect = 5.347E-03(pb) AVG = 8.387E+01 RMS = 6.963E+01
Tot # Evts = 49223 Entries = 33647 Undersc= 0 Over




# events/bin

103

101

100

m(jet?, mu—1)
) ) ) I ) ) ) )

o III

mij

RMS = 5.504E+01
0 Over

X-sect = 5.347E-03(pb) AVG = 6.510E+01
Tot # Evis = 49223 Entries = 22393 Undersc =




# events/bin

103

10°

100

m(jet3,mu—1)
I I I I I I I I

o

mij

500

X-sect = 5.347E-03(pb) AVG =5.711E+01 RMS = 4.890E+01
Tot # Evts = 49223 Entries = 12623 Undersc= 0 Over




m(jet4,mu—1)
I I I I I I I I

10:3 =
102 E—
E ;
> L
g 100 g
m -
> -
0 -
I »
100 E—
0

100 200 300 400
mij

500

X-sect = 5.347E-03(pb) AVG =5.367E+01 RMS = 4.642E+01
Tot # Evis = 49223 Entries= 6229 Undersc= 0 Over




5000

1000
500

100

50

# events/bin

—
o

(9}
o IIIIII

m(jetl,mu+1)
) ) I ) ) )

mij

X-sect = 5.347E-03(pb) AVG = 8.360E+01 RMS = 6.950E+01
Tot # Evts = 49223 Entries = 33787 Undersc= 0 Over




# events/bin

103

10°

101

100

m(jet?, mu+1)

o IIIIII
—
o
o
[AY)
o
o
[9Y)
o
o

mij

Tot # Evis = 49223 Entries = 22510 Undersc =

X-sect = 5.347E-03(pb) AVG = 6.534E+01 RMS = 5.515E+01

0 Over




# events/bin

103

10°

100

10~1

m(jet3,mu+1)

o

mij

500

X-sect = 5.347E-03(pb) AVG =5.684E+01 RMS = 4.809E+01
Tot # Evts = 49223 Entries = 12674 Undersc= 0 Over




m(jet4,mu+1)

103 E—
102 E—
E :
> ol
g 100 g
m -
> ~
0 -
I »
100 E—
0

100 200 300 400
mij

500

X-sect = 5.347E-03(pb) AVG = 5.389E+01 RMS = 4.652E+01
Tot # Evis = 49223 Entries= 6260 Undersc= 0 Over




# events/bin

103

o

100 200
mij

300 400

500

X-sect = 5.347E-03(pb) AVG = 4.300E+01 RMS = 4.627E+01

Tot # Evis = 49223 Entries =

40 Undersc= 0 Over




# events/bin

200

100

80

20

10

m(b2,222?1)

100 200 300 400
mij

X-sect = 5.347E-03(pb) AVG = 5.000E+00 RMS = 0.000E+00
Tot # Evts = 49223 Entries= 40 Undersc= 0 Over




# events/bin

m(bl,e+1)
I I I I I ) ) I

o

100 200 300
mij

500

X-sect = 5.347E-03(pb) AVG = 7.522E+01
Tot # Evis = 49223 Entries =

673 Undersc =

RMS = 5.865E+01
0 Over




# events/bin

10l

100

m(b2,e+1)
I I I I I I

o

100 200 300
mij

500

X-sect = 5.347E-03(pb) AVG = 4.310E+01
Tot # Evis = 49223 Entries =

21 Undersc =

RMS = 3.111E+01
0 Over




103 E—
102 E—
£ x
S L
= 10
3)
>
()
I
100 E—
0

mij

500

X-sect = 5.347E-03(pb) AVG =7.257E+01 RMS = 5.469E+01

Tot # Evis = 49223 Entries =

687 Undersc= 0 Over




# events/bin

101

100

o

mij

500

X-sect = 5.347E-03(pb) AVG =6.081E+01 RMS = 3.109E+01

Tot # Evis = 49223 Entries = 31 Undersc =

0 Over




m(bl,mu—1)

103 E—
102 E—
£ g
S L
100
0 -
> N
0 -
I »
100 E—
0

mij

500

X-sect = 5.347E-03(pb) AVG =7.169E+01 RMS = 5.952E+01
Tot # Evis = 49223 Entries= 859 Undersc= 0 Over




# events/bin

103

m(b2,mu—1)

o

100 200
mij

300 400

500

X-sect = 5.347E-03(pb) AVG = 6.088E+01 RMS = 5.668E+01

Tot # Evis = 49223 Entries =

34 Undersc= 0 Over




m(bl,mu+1)

10:3 =
102 E—
£ x
S L
g 100 g
0 -
> N
0 -
I »
100 E—
0

100 200 300 400
mij

500

X-sect = 5.347E-03(pb) AVG =7.269E+01 RMS = 5.498E+01
Tot # Evis = 49223 Entries= 844 Undersc= 0 Over




# events/bin

103

m(b2,mu+1)

o

100
mij

500

X-sect = 5.347E-03(pb) AVG =5.938E+01 RMS = 3.799E+01
Tot # Evts = 49223 Entries= 32 Undersc= 0 Over




# events/bin

m(e+1,e—1)

mij

500

X-sect = 5.347E-03(pb) AVG =8.815E+01 RMS =9.701E+00
Tot # Evts = 49223 Entries = 27284 Undersc= 0 Over




# events/bin

101

100

m(e+1,mu—1)

o IIIIII

mij

X-sect = 5.347E-03(pb) AVG =7.289E+01 RMS = 3.876E+01
Tot # Evts = 49223 Entries = 31755 Undersc= 0 Over




# events/bin

101

100

m(e+1,mu+1

o IIIIII

mij

X-sect = 5.347E-03(pb) AVG =7.401E+01 RMS = 3.890E+01

Tot # Evis = 49223 Entries = 31868 Undersc =

0 Over




# events/bin

101

100

m(e—1,mu—1)

o IIIIII

mij

X-sect = 5.347E-03(pb) AVG = 7.379E+01

Tot # Evis = 49223 Entries = 31709 Undersc =

RMS = 3.836E+01
0 Over




# events/bin

101

100

m(e—1,mu+1)

o IIIIII

mij

X-sect = 5.347E-03(pb) AVG = 7.309E+01 RMS = 3.863E+01
Tot # Evts = 49223 Entries = 31956 Undersc= 0 Over




# events/bin

m(mu—1,mu+1)

mij

X-sect = 5.347E-03(pb) AVG = 8.903E+01 RMS = 1.069E+01
Tot # Evts = 49223 Entries = 35779 Undersc= 0 Over




# events/bin

cos(jet1,jet?)

- I I I I I I I I I I I I I I I -
6000 — —
4000 [— —
2000 — —
i }
0 I —
i 1 1 1 1 | 1 1 1 1 | 1 1 1 1 | 1 1 i

-1.0 -0.5 0.0 0.5

cos(theta)

X-sect = 5.347E-03(pb) AVG = 3.690E-01 RMS = 5.145E-01
Tot # Evts = 49223 Entries = 26101 Undersc= 0 Over




# events/bin

2000 —

1000 —

cos(jet1,b1)

—1000 —

-0.5 0.0 0.5
cos(theta)

X-sect = 5.347E-03(pb) AVG =2.537E-01 RMS = 5.871E-01
Tot # Evis = 49223 Entries= 834 Undersc= 0 Over




# events/bin

2000

1000 —

cos(jet1,bR)

—1000 —

—2000

-1.0

-0.5 0.0
cos(theta)

X-sect = 5.347E-03(pb) AVG =5.469E-01 RMS = 4.384E-01

Tot # Evis = 49223 Entries =

32 Undersc= 0 Over




# events/bin

2000 —

1000 —

cos(jet2,bl)

—-1000 —

-0.5 0.0 0.5
cos(theta)

X-sect = 5.347E-03(pb) AVG = 1.866E-02 RMS = 6.232E-01
Tot # Evis = 49223 Entries= 603 Undersc= 0 Over




# events/bin

2000 =T

1000 —

cos(jet2,bR)

—1000 —

—2000 =~

-0.5 0.0
cos(theta)

X-sect = 5.347E-03(pb) AVG =1
Tot # Evis = 49223 Entries =

.227E-01 RMS =5.110E-01

22 Undersc= 0 Over




# events/bin

cos(jet1,?722?1)

15000 —

10000 —

5000 —

-0.5 0.0 0.5
cos(theta)

X-sect = 5.347E-03(pb) AVG = 3.046E-01 RMS = 5.782E-01
Tot # Evts = 49223 Entries = 39736 Undersc= 0 Over




# events/bin

cos(jete,????1)

10000

5000

-0.5 0.0 0.5
cos(theta)

X-sect = 5.347E-03(pb) AVG =2.855E-01 RMS = 5.290E-01
Tot # Evts = 49223 Entries = 26101 Undersc= 0 Over




# events/bin

cos(jetl,e+1)

3000 —

2000 [—

1000 —

-0.5 0.0 0.5
cos(theta)

X-sect = 5.347E-03(pb) AVG =-1.229E-01 RMS = 6.144E-01
Tot # Evts = 49223 Entries = 28672 Undersc= 0 Over




# events/bin

3000

2000

1000

o

—1000

os(jet2,e+

C
T

1)

gIIIIIIIIIIIIIIIIIIIIIIIIII

!-‘IIII|IIII|IIII|IIII|IIII|IIII

-0.5 0.0

cos(theta)

X-sect = 5.347E-03(pb) AVG =-4.014E-01 RMS = 5.417E-01
Tot # Evts = 49223 Entries = 18368 Undersc= 0 Over




# events/bin

2000 1

1000 —

cos(b1,b2)
I I I I

—1000 —

—2000 =~

-0.5 0.0
cos(theta)

X-sect = 5.347E-03(pb) AVG =4.650E-01 RMS = 3.111E-01

Tot # Evis = 49223 Entries =

40 Undersc= 0 Over




# events/bin

cos(b1,??221)

N I I I I I I I I I I I I I I I I ]
2000 — —
1000 — —
- T
0 — —
—-1000 — —]
B 1 1 | 1 1 1 1 | 1 1 1 1 | 1 1 1 1 N

-1.0 -0.5 0.0 0.5 1.0

cos(theta)

X-sect = 5.347E-03(pb) AVG = 2.790E-01 RMS = 5.880E-01

Tot # Evis = 49223 Entries =

980 Undersc= 0 Over




# events/bin

2000 1

1000 —

cos(b2,?2?7221)

-1000 —

—2000 =~

-0.5 0.0
cos(theta)

X-sect = 5.347E-03(pb) AVG =1
Tot # Evis = 49223 Entries =

.025E-01 RMS = 6.508E-01

40 Undersc= 0 Over




# events/bin

2000

1000 —

—-1000 —

—2000 =

cos(bl,e+1)

-1.0

-0.5 0.0 0.5
cos(theta)

X-sect = 5.347E-03(pb) AVG =-3.975E-01 RMS = 5.517E-01
Tot # Evis = 49223 Entries= 673 Undersc= 0 Over




# events/bin

1000

500

cos(b2,e+1)

—500

—1000

I
-
o

-0.5 0.0 0.5
cos(theta)

[
o

X-sect = 5.347E-03(pb) AVG =-6.738E-01 RMS = 2.793E-01
Tot # Evts = 49223 Entries= 21 Undersc= 0 Over




# events/bin

cos(????1,e+1)

20000

15000

10000

5000

I
=
o

-0.5 0.0 0.5
cos(theta)

X-sect = 5.347E-03(pb) AVG =-4.828E-01 RMS = 4.409E-01
Tot # Evts = 49223 Entries = 36423 Undersc= 0 Over




